Pick one of these, and write on it.  Your paper must be at the most 3 pages, single spaced, 1” margins, 12 point times new roman font.

· What is the main objection to skepticism, and is it a good objection?  Explain what the objection is, why it is the main objection to skepticism, and argue that it is a good or bad objection.  Consider and respond to an objection to your argument.

· Klein, Huemer, and BonJour (in “Can Empirical Knowledge Have a Foundation?”) all endorse a cognitive accessibility criterion on justifiers (that what it is that justifies our beliefs must be accessible to our minds).  Compare and contrast the criteria endorsed by each, and then explain which is the best (argue for this).  Consider and respond to an objection to your argument.

· There are no externalist infinitists.  Why not?  You should give an argument that shows that externalist foundationalism and/or coherentism are more plausible than externalist infinitism (even if you don’t think that any of them are terribly plausible).  Consider and respond to an objection to your argument.

· Should Huemer have been a weak foundationalist?  Let’s stipulate that weak foundationalism is the view that any basic belief has some degree of justification, but not enough to be justified (even prima facie) on its own, but that given a sufficient number of coherent basic beliefs, each is justified (in the absence of defeaters).  Argue that the considerations Huemer appeals to to argue for his strong foundationalism better support weak foundationalism (or argue that they do not).  Consider and respond to an objection to your argument.

· Can Huemer argue for something close to his view without endorsing anything like “ought implies can?”  Explain why Huemer does appeal to “ought implies can,” and then explain how he could best do what he wants without doing so.  Argue that this does or does not succeed as an account of internalist foundationalist justification.  Consider and respond to an objection to your argument.

· Does BonJour’s argument against foundationalism also show that his coherentist view is a bad one?  Explain his argument, and how it might be applied to his coherentist account of justification.  Argue that his anti-foundationalist argument does or does not refute his coherentist account. Consider and respond to an objection to your argument.

